|

Multiplication (Vertical) Name:
Solve each problem. Answers
1) 270 2) 347 3) 940 4) 625
x 7 X 2 X 4 x 8 L
2.
3.
4,
5) 201 6) 663 7) 277 8) 657
X 5 X 5 X 3 X 8 5.
6.
7.
8.
9) 238 10) 353 11) 507 12) 850
x 2 X 3 x 3 X 4 9.
10.
11.
12.
13) 155 14) 993 15) 505 16) 980
x 2 x 7 x 2 x 3 13.
14,
15.
16.
17) 628 18) 557 19) 946 20) 821
x 5 x 2 X 6 x 2 17
18.
19.
20.
1-10 | 95[90[ 85|80 75|70 | 65|60 |55 |50
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Multiplication (Vertical) Name:  Answer Key
Solve each problem. Answers
1) 270 2) 347 3) 940 4) 625
X 7 X 2 X 4 X 8 1. 1,890
1,890 694 3,760 5,000 ) 694
3. 3,760
4 5,000
5) 201 6) 663 N 277 8) 657
X 5 X 5 X 3 X 8 5. 1,005
1 1 1 2
,005 3,315 83 5,256 . 3315
7. 831
8. 5,256
9 238 10) 353 11) 507 12) 850
x 2 x 3 x 3 x 4 9 476
476 1,059 1,521 3,400
0. 1,059
11 1,521
1 3,400
13) 155 14) 993 15) 505 16) 980
x 2 x 7 x 2 x 3 13, 310
310 6,951 1,010 2,940
u 6,951
1. 1,010
6. 2,940
17) 628 18) 557 19) 946 20) 821
X 5 X 2 i 6 X 2 17. 3,140
3,140 1,114 5,676 1,642
18, 1,114
9. 5,676
20. 1,642
1-10 [ 95]90|85]80|75]| 70| 65|60 |55]50
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Multiplication (Vertical) Name:
Solve each problem. Answers
3,760 831 476 694
1.
1,005 1,890 5,000 1,521
5,256 3,400 1,059 3,315 2.
3.
1) 270 2) 347 3) 940 4) 625 4.
X 7 X 2 X 4 X 8
5.
6.
7.
5) 201 6) 663 7) 277 8) 657 8.
X 5 X 5 X 3 X 8
9.
10.
11.
9) 238 10) 353 11) 507 12) 850 .
X 2 X 3 X 3 X 4
Modified 1-10 |92 [83] 75|67 |58 |50 [42[33]25]17]|
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